Name ____________________

Write the correct formula for each equation below.  Leave space for the coefficient during balancing next class.  If the formula is wrong IT WILL NOT BALANCE.  DO NOT FORGET THE UNDERLINED DIATOMICS!!  There are 7 elements.

1. Aluminum and oxygen yield aluminum oxide.




Diatom
                  Al+3

O-2
Al   +         O2    (       Al2O3
2. Carbon monoxide and oxygen yield carbon dioxide.   Covalent named
CO   +        O2    (        CO2
3. Mercury (I) oxide yield mercury and oxygen.  Mercury (I) is Hg2+2 on “Pink Poly Sheet”
                 Hg2+2
              O-2


    Diatom
Hg2O       (        Hg       +       O2
4. Calcium oxide and water yield calcium hydroxide.

           Ca+2
   O-2
   
            Ca+2
              OH-1
CaO    +        H2O    (        Ca(OH)2
5. Lithium and chlorine yield lithium chloride.

       Diatom

 Li+1
      Cl-1
Li    +        Cl2    (        LiCl
6. Magnesium and oxygen yield magnesium oxide.


      

      Diatom

 Mg+2
              O-2
    Mg     +           O2           (        MgO
7. Manganese (V) oxide and aluminum yield aluminum oxide and manganese.

                Mn+5
                           O-2
   
            

             Al+3
     O-2
              Mn2O5       +              Al             (        Al2O3        +       Mn
8. Sodium and chlorine yield sodium chloride.

      

         Diatom

 Na+1
              Cl-1
 Na    +           Cl2           (        NaCl
9. Potassium bromide and chlorine yield potassium chloride and bromine.
           K+1
              Br-1
         Diatom

 K+1
              Cl-1                             Diatom
            KBr           +           Cl2           (        
KCl         +         Br2
10. Iron and oxygen yields iron (III) oxide.


            Diatom
     Fe+3

O-2
Fe   +         O2    (       Fe2O3
11. Potassium chlorate yield potassium chloride and oxygen.


    K+1
              ClO3-1                  K+1               Cl-1

       Diatom

          KClO3            (             KCl
       +         O2    
